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Multi Tasking Non Technical Staff and Havaldar CBIC and CBN

Examination 2022

[Roll Number
Candidate
Name
\Venue Name |Tech Testing Solution
Exam Date 18/05/2023
Exam Time 3:30 PM - 5:00 PM
Subiect MTS Non Tech Havaldar CBIC and CBN
J Examination 2022
Q.1
225 3T 425 FT Agead HHEYGAE (HCF) FFar 87
Ans ¢ g 17
2 25
X35
<4 9

Question Type :
Question ID :

Option 11D

Option 3 ID

: 264330543513
Option 21D :
: 264330543511
Option 4 ID :
Status :

Chosen Option :

McQ
264330138726

264330543512

264330543514

Answered
2
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Q2 3y & a8 aferer & @a aof & & sufaat P 3tk Q & amwr & gafar aar ¥

EL) P Q

Y1 200 |250
Y2 350 150
Y3 500 |650
Y4 650 | 450
Y5 600 | 550
Y6 450 | 700
Y7 400 | 500

eRfET § O Fi9-9r Fua gér J8 22
L 3§ Y1 &P & av Y13 Q& 3m7 @ 20 v &7 2

Il. afr oSt & P & o7 719 AR Q A FoT 3T F 3T 63 : 64 B
Ans v”m”

X2 | Al e

Ko garlawadr

K4 et |

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330137663
264330539260
264330539261
264330539262
264330539259
Answered

1

Q3 If the diagonal of a square is 18.4 cm, then the area of that square is:

Ans X 1. 338.56 cm?
X 2. 84 64 cm?
« 3. 109.28 cm?
X 4. 324,42 cop?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330138743
264330543580
264330543582
264330543581
264330543579
Answered

3
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¢, @ gal v F=w e

Q4 drer Feanst @ T 126 §1 R Tgel AR A w1 s 37 § AR gEd it dad @ e 47

Chosen Option :

Ans o 1. 36
< 2. 56
X3 27
<4 B3
Question Type : MCQ
Question ID : 264330134089
Option 1 ID : 264330525381
Option 2 ID : 264330525382
Option 3 ID : 264330525379
Option 4 ID : 264330525380
Status : Answered
Chosen Option : 1
Q.5
2[1.5 x 1.5 + 0.5 x 0.5] &7 AlF 4T &7
Ans X 1 4
w2 K
X3 45
X4 10
Question Type : MCQ
Question ID : 264330137662
Option 1 ID : 264330539255
Option 2 ID : 264330539257
Option 3 ID : 264330539256
Option 4 ID : 264330539258
Status : Answered
Chosen Option : 4
Q.6 A 3R 12 G F & 1 1/4 A9 9 W T £ B 3k 4 B F FF 1 1/5 9T FT T B
A 3k B o=t o w1 # faw fE & W T 87
Ans Lo
v 1 240117 &t &
X2 255/7 fgAT A
X3 330113 ’eaT H
X4 210/4 fear &
Question Type : MCQ
Question ID : 264330135384
Option 1 ID : 264330530444
Option 2 ID : 264330530443
Option 3 ID : 264330530445
Option 4 ID : 264330530446
Status : Answered

1
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Q.7 66 cm f=aT = TF W MAER AT T TeAF 33 cm HoT TR A 39 AR A8 & ST
Hedr &2
Ans X 1. 4
X2 7
3 8
x4 3
Question Type : MCQ
Question ID : 264330135389
Option 1 ID : 264330530465
Option 2 ID : 264330530466
Option 3 ID : 264330530464
Option 4 ID : 264330530463
Status : Answered
Chosen Option : 3
Q8 P, @ 3 R e B F8 F1 FAen 30 W, 10 62 3 15 62 F @ W wea §1 3fy ¥ @ e
FH wY, A F o 7T § 5w I S @ S
Ans x 1. 4 'é
X210 g
V3 5 e
X4 8we
Question Type : MCQ
Question ID : 264330138739
Option 1 ID : 264330543564
Option 2 ID : 264330543565
Option 3 ID : 264330543563
Option 4 ID : 264330543566
Status : Answered
Chosen Option : 3
Q.9 Rs. 21000 Fr T W 6 7 F BT 10% FA/F R W 3d=fis 70 ¥ TfaT Twgfz == faar
grem?
Ans X 1. Rs. 1250
x 2. Rs. 1680
<3 Rs. 1850
+ 4 Rs. 1050
Question Type : MCQ
Question ID : 264330138737
Option 1 ID : 264330543558
Option 2 ID : 264330543557
Option 3 ID : 264330543556
Option 4 ID : 264330543555
Status : Answered
Chosen Option : 4
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Q10 i sl Teehr % Ja= &7 s 5:2 ¥1 AT 3R da= & weEen 20% X 12% #r gfw Fr o g
A 37 I T AGT IS FAT g

Ans X1 91:25
x2 81:28
v 75:28
x4 25:73
Question Type : MCQ
Question ID : 264330134090
Option 1 ID : 264330525386
Option 2 ID : 264330525385
Option 3 ID : 264330525383
Option 4 ID : 264330525384
Status : Answered
Chosen Option : 3
AN o arg ¥ Tpa & 15% AR 40% F 3 FAEE 3R, FF o Tow 3R F v &2
Ans X 1. 55%
X2 52%
+3 61%
x4 60%
Question Type : MCQ
Question ID : 264330138730
Option 1 ID : 264330543528
Option 2 ID : 264330543530
Option 3 ID : 264330543529
Option 4 ID : 264330543527
Status : Answered
Chosen Option : 3
Q12 e v T 33 UE & i Fr &) 7w & wew-dtend gl 60 kmvhr #r T & HT 9 gft 40
km/hr B I & T FE 81 km F T T F 75 gft e @2
Ans 1. 1440 km
X 2480 km
< 31220 km
x4 680 km
Question Type : MCQ
Question ID : 264330134093
Option 1 ID : 264330525398
Option 2 ID : 264330525395
Option 3 ID : 264330525397
Option 4 ID : 264330525396
Status : Not Answered
Chosen Option : --
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Ans

V117 a9
X2 20 I
X3 22 ¥
X4 15 I¥

Q13 p, g skt R # sitas 3mg 19 a¥ ¥ 3t P 3t Q #r sitwa 377 20 =¥ &1 R & a0@7= a7 &

Chosen Option :

Question Type : MCQ
Question ID : 264330134083
Option 1 ID : 264330525357
Option 2 ID : 264330525355
Option 3 ID : 264330525356
Option 4 ID : 264330525358
Status : Answered
Chosen Option : 1
Q.14 grumor sorsT 9X T eI 3 a9 # Rs. 14,400 AT 4 7 # Rs. 15,500 g el §1 97 R WA
FfET)
Ans X 1. Rs. 20,000
~ 2. Rs. 10,000
~ 3 Rs. 10,080
+4 Rs. 11,100
Question Type : MCQ
Question ID : 264330138380
Option 1 ID : 264330542130
Option 2 ID : 264330542128
Option 3 ID : 264330542127
Option 4 ID : 264330542129
Status : Answered
Chosen Option : 4
Q15 3fgg Rs. 1280 & v T aear WlEAT & AR R FEAT W Rs. 120 T 4T £ TE 77 50
Rs. 1050 & s=ar &, &t 3@ gl Sfderd 1 22
s v 25 gfeRE
X 2. 20 gfaerE
X3 40 gfgea
X430 wfgera
Question Type : MCQ
Question ID : 264330137159
Option 1 ID : 264330537281
Option 2 ID : 264330537282
Option 3 ID : 264330537279
Option 4 ID : 264330537280
Status : Answered

1
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2 0f60+93x0.02 F F ¥:

Ars »1.0.10
<2 0.05
X3 0.20
~<4.0.02
Question Type : MCQ
Question ID : 264330134081
Option 1 ID : 264330525349
Option 2 ID : 264330525348
Option 3 ID : 264330525350
Option 4 ID : 264330525347
Status : Answered
Chosen Option : 1
QA7 v ifibstet s v SR AR @ Rs. 24000 Wiy #ea oX &= @ Aty WheNET ® 20% % s
T AR SR FE Fr 20% B @ OF &= T, A @ om-aw F g oy @ty whae e §2
Ans .
X 1. 5% g
X2 5% s
X3 4% o
v 4 4% gier
Question Type : MCQ
Question ID : 264330134087
Option 1 ID : 264330525374
Option 2 ID : 264330525372
Option 3 ID : 264330525371
Option 4 ID : 264330525373
Status : Answered
Chosen Option : 4

Google Play
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Q18 = Ry =iv & e # a9 2015-2016 # =it =T 3w 1w el sumR & g mr &

FAEA TR 3R HwaH SR & HEA Gear a?

Foreign Trade (in millions)

Foreign trade (in millions)- fa&=fr sz (f&fewsr &), Countries- g1
Ans 5 4 2-5

x<2 3:14

X3 4:11

4 111

Question Type : MCQ
Question ID : 264330134097
Option 1 ID : 264330525413
Option 2 ID : 264330525411
Option 3 ID : 264330525412
Option 4 ID : 264330525414

Status : Answered

Chosen Option : 4

Q.19 Rs. 10000 & we e o &0 20% & ws 7% 3 16% 3K 4% & o HAwE ==f & &= &7 37 &
Ans X1 Rs. 72

X2 Rs. 19.36
X3 Rs. 22.32
v 4 Rs. 64

Question Type : MCQ
Question ID : 264330134088
Option 1 ID : 264330525378
Option 2 ID : 264330525375
Option 3 ID : 264330525377
Option 4 ID : 264330525376
Status : Answered
Chosen Option : 2
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Q20 15 gz geer 9 F 40 km X G G F 50 km F A FAT ¥ T F AW =1 F=4w B2
Ans X 1. 48 km/hr

+ 2. 45 km/hr

« 3. 50 km/hr

X 4 40 km/hr

Question Type : MCQ
Question ID : 264330138439
Option 1 ID : 264330542365
Option 2 ID : 264330542366
Option 3 ID : 264330542364
Option 4 ID : 264330542363
Status : Answered
Chosen Option : 2

Section : Reasoni

Q1 o THeIoT B T wE & BT OFd @ guwE B HUw § geer e aiene
12+72%x3-13 =5

Ans X113 3R s
X212 3R 3
v3 12 3R 72
X413 3T 3

Question Type : MCQ
Question ID : 264330133711
Option 1 ID : 264330523867
Option 2 ID : 264330523868
Option 3 ID : 264330523869
Option 4 ID : 264330523870

Status : Answered

Chosen Option : 3
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Ans

L1 ]
> |
&1
o 2.
< 3. -
X 4. ©

Q2 3g fawey @R B glaw = A & 0 gy # ted w @ a & o vy Rew (7) & WwE W
FIET | (YO A IS e §)

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Option 4 ID

MCcQ

264330133715
264330523883
264330523886
264330523885

: 264330523884
Status :
Chosen Option :

Answered
2

Ans

Q3 M, N, O P Q 3R v JraHR I W TH-Z F AT TW 5% 83 £ O, R F &% o 3R ar

FIRNOF T M g A I M, QH a8 3R, g WF R =T &I R IR M F &%

e F FiT g9 77

X1.Q
X2 0
+3 P
X4 N

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330133703
264330523837
264330523836
264330523835
264330523838
Answered

3
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Q.4 ofg g sifra, frere, dEor | g 3R ST TE #F W SR A AR gT o 3 ¥ AifRT, e 5 O
g 3T ¥ & S A uT AL ¥ ¥ S0, fener 3t deen ¥ & wew # dur ¥ wew A s W

Fea Far B2
Ans x 1. Eﬁ_-q'
X2 Iz
X 3. fremer
v 4 wfeRa
Question Type : MCQ
Question ID : 264330133702
Option 1 ID : 264330523833
Option 2 ID : 264330523834
Option 3 ID : 264330523832
Option 4 ID : 264330523831
Status : Answered
Chosen Option : 4
Q.5 s . . .
Peafaf@a vy &, & 7% g@er # I T= & gaT |
200, 174, 148, 122, 96,7
Ans X 1. 20
2. 70
X3 74
<471
Question Type : MCQ
Question ID : 264330138594
Option 1 ID : 264330542985
Option 2 ID : 264330542984
Option 3 ID : 264330542983
Option 4 ID : 264330542986
Status : Answered
Chosen Option : 2
Q.6 Iy RrFew & AT SO aeE ¥ ST W e TR § HY e @ T Ued e ¥ HAfA ¥
%HTIEW:." : F\mﬂﬁT 3H m : 7
e X e
v 2 fafFeR
X 3 TERTES
X4 g
Question Type : MCQ
Question ID : 264330133697
Option 1 ID : 264330523811
Option 2 ID : 264330523813
Option 3 ID : 264330523814
Option 4 ID : 264330523812
Status : Answered
Chosen Option : 2
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Q7 FTEII T FIRATATSEAM, N, O, P, Q, R 3R $ 07 g & IR 59 ¥ TS ¢ T84 3k
Pe dren BE WU Bl WS H el off ol ¢ SR ¥eY S B an I st § w9 9 @l g
M QF 3 U AR P& 3fe 99 @ST 8I R IR S & 99 &9d af 80 s g1 N $ad 6 a5
Y da gl R WEY BIET T8 g1 WY ofdl B S 87
Ans X 1. R
X2 0
X3 M
4 P
Question Type : MCQ
Question ID : 264330133704
Option 11D : 264330523840
Option 2 ID : 264330523842
Option 3 ID : 264330523841
Option 4 ID : 264330523839
Status : Answered
Chosen Option : 1
Q8 & o1 swer F Reafead § ¥ F9-8 960 UH Rew (?) & TUF 0 el
46, 50, 58, 70, 86, 106, ?
Ans X 1. 140
< 2. 280
< 3. 150
4 130
Question Type : MCQ
Question ID : 264330133708
Option 1 ID : 264330523855
Option 2 ID : 264330523856
Option 3 ID : 264330523857
Option 4 ID : 264330523858
Status : Answered
Chosen Option : 4
Q9 =7 fimpen @ ghew S ST eg ¥ e =6 oE Felod & Ow oXT oEy o e AEE @ WAt g
TEEIA : Ocd :: P TSRS ;7
Ans X 1. ga (Liquid)
X 2. el (Fruit)
3. TR (Compound)
A 4. 37T (Organ)
Question Type : MCQ
Question ID : 264330133698
Option 1 ID : 264330523818
Option 2 ID : 264330523817
Option 3 ID : 264330523815
Option 4 ID : 264330523816
Status : Answered
Chosen Option : 3
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Q10 o BRTT Fz o &, 'UKSH' it '$TL21" Rmam =mar 31 38 2 oo & 'GAIN' 1 3 Rrgm smeem?

Ans X 1. 15JB7
X2 14J7B
X3 14JB8
« 4 14JB7
Question Type : MCQ
Question ID : 264330137792
Option 1 ID : 264330539778
Option 2 ID : 264330539776
Option 3 ID : 264330539777
Option 4 ID : 264330539775
Status : Answered
Chosen Option : 4
Q.11 Two Statements are given followed by two conclusions numbered T and IT. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow (s) from the
statements,
Statements:
Some pens are black.
No black is blue.
Conelusions:
L No pen is blue.
II. Some pens are not black.
Ans X 1. Only conclusion II follows
& 2. Both conclusions I and II follow
X 3. Only conclusion I follows
+ 4. Neither conclusion I nor II follows
Question Type : MCQ
Question ID : 264330133705
Option 1 ID : 264330523844
Option 2 ID : 264330523845
Option 3 ID : 264330523843
Option 4 ID : 264330523846
Status : Answered
Chosen Option : 4
Q12 R aw & feg @t 39w F sges 9T, TAET (1) T (1) F FFer A7 9w g
+ 37 -
.18 +3+6x2-8
.15 x 3-45+ 5+ 30
Ans -
X1 3 3T 25
v2 2 3 24
X3 24 HR 2
x4 2 3k 66
Question Type : MCQ
Question ID : 264330138494
Option 1 ID : 264330542586
Option 2 ID : 264330542584
Option 3 ID : 264330542585
Option 4 ID : 264330542583
Status : Answered
Chosen Option : 2
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Ans

QI3 & mé s & 3w W adOT ST A g, S T MN T TR & o T TEs o
N

Question Type :
Question ID :
Option 1 ID :
Option 2 ID :
Option 3 ID :

Option 4 ID

Chosen Option

mcQ

264330137579
264330538925
264330538923
264330538924

1 264330538926
Status :
03

Answered

Rr@r see?

Ans X 1. BX20F14E
X2 BY20G14E
A3 BY30F14E
v 4 BY20F14E

Q14 v GffgT 2 s A, COSTLY' & '3P1sU12Z foram e €1 38 5 &1 § 'EXTEND' & &3

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330138813
264330543862
264330543860
264330543859
264330543861
Answered

4
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Q15 37 faerew @ gfam St oiadt FEw F & 3 v TAT ¥ W vER g@d s ueer s @

T & Ay St dew Sel e @ e E

18 : 190 :: 20 :
Ans 1. 230
X 2190
X 3. 200
X4 210
Question Type : MCQ
Question ID : 264330138596
Option 1 ID : 264330542993
Option 2 ID : 264330542994
Option 3 ID : 264330542991
Option 4 ID : 264330542992
Status : Answered
Chosen Option : 1
Q16 & 718 gmer ¥ RFaART F T FF-TT F&T TN BeE (2) F TART UT L
E, J,O T Y,D, 7?7
Ans 1. 1
X2 M
K30
<4 R
Question Type : MCQ
Question ID : 264330133696
Option 1 ID : 264330523808
Option 2 ID : 264330523807
Option 3 ID : 264330523809
Option 4 ID : 264330523810
Status : Answered
Chosen Option : 1

Q17 fr o e = coEgde wenTa AT 3 3w d=w @ gfar F aw ded F uw R () o
T 3T HWehaT &7
TAA Ofs- 11, 19, 27
fedrm ofs- 17, 25, 33
g ufs- 23, 31, 7

Ans X' 1. 33
Z2 39
X3 14
X4 40

Question Type : MCQ
Question ID : 264330133710
Option 1 ID : 264330523866
Option 2 ID : 264330523864
Option 3 ID : 264330523865
Option 4 ID : 264330523863
Status : Answered
Chosen Option : 2
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Q18 el vk @E FT T #, RIVER' &t 'SIWFS' form =ar & #iv ‘BROWN' &1 'CSPXO" fram smar
g1 38 g s F 'PRESS' & &4 o srem?

Ans X 1. QSGTT
A2 QSFUU
X 3. GSFRR
4 QSFTT

Question Type : MCQ
Question ID : 264330133470
Option 1 ID : 264330522912
Option 2 ID : 264330522913
Option 3 ID : 264330522914
Option 4 ID : 264330522911

Status : Answered

Chosen Option : 4

Q.19 Three Statements are given followed by two conclusions numbersd T and IT. Assuming the statements 1o be tue, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow (s} from the
statements,

Statements:
Some nachos are patties.
Some patties are pasiries.
Mo pastry is a chocolate.
Conelusions:
L. Wo nache is a chocolate.
II. Some nachos are pastries.
Ans X 1. Both conclusions I and II follow

X 2. Only conclusion I follows

« 3. Weither conclusion I nor IT follows
X 4. Only conclusion IT follows

Question Type : MCQ
Question ID : 264330133706
Option 1 ID : 264330523849
Option 2 ID : 264330523847
Option 3 ID : 264330523850
Option 4 ID : 264330523848

Status : Answered

Chosen Option : 3
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Q.20 33 fweT sy & v Swd & 8 PR (X) 3T a9 F w0 F R ¢ (aue $r sty a8
B3]
(x)
Ans
&< 1.
5 2.
A i
W3
- . \{’
&< 4.
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
264330137578
264330538920
264330538921
264330538922
264330538919
Answered

3

Section : General Awareness
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Q1 ury #fde & oF T FET e & s g P #§ 3Ew od-Td 21 1

AN X iR TR, i T
X 2 S, SIF

X 3. I Breer, wifdee =feear
v 4 e, e

Question Type : MCQ
Question ID : 264330138663
Option 1 ID : 264330543261
Option 2 ID : 264330543259
Option 3 ID : 264330543262
Option 4 ID : 264330543260
Status : Answered
Chosen Option : 3

Q.2 According to Census 2011, which among the following has the minimum population density?

Ans X 1. Andhra Pradesh
« 2. Arnachal Pradesh
X 3. Chandigarh

X 4 Sikkim

Question Type : MCQ
Question ID : 264330134655
Option 1 ID : 264330527577
Option 2 ID : 264330527575
Option 3 ID : 264330527576
Option 4 ID : 264330527578
Status : Answered
Chosen Option : 2

Q3 The basic unit of speed of an object is

Ans X 1. metre per km (m/km)
X 2. metre per minute {m/m)
X 3. metre per hour (m/h)

+ 4. metre per second (m/s)

Question Type : MCQ
Question ID : 264330138665
Option 1 ID : 264330543270
Option 2 ID : 264330543268
Option 3 ID : 264330543269
Option 4 ID : 264330543267
Status : Answered
Chosen Option : 4
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Ans x 1. ET,':
o 2. §T|'I'-l§

1540 & Filsr & g2 F TRE F ¥ FEH aR g o

X 3 Hepaq
X 4. QTIAME
Question Type : MCQ
Question ID : 264330137749
Option 1 ID : 264330539603
Option 2 ID : 264330539604
Option 3 ID : 264330539605
Option 4 ID : 264330539606
Status : Answered
Chosen Option : 2
Q.5 o adT & 1898 F dz g Fow $7 A7 @ @ g o7 (Hindu religion) 3 af¥esdr
F=ferF W (Western scientific subjects) 2 T =2 &
Ans .
X1 TeAg
X 2. qOT
]
3 FARH
X 4. proTepral
Question Type : MCQ
Question ID : 264330137752
Option 11D : 264330539617
Option 2 ID : 264330539618
Option 3 ID : 264330539616
Option 4 ID : 264330539615
Status : Answered
Chosen Option : 4
Q.6 : :
T Ao sag Rala o d e g?
Ans . . .
X 1. &= & (Vitamin-D)
v 2 fFafds d@r (Vitamin-C)
X 3. fFerm@= v (Vitamin-A)
X 4 Fafds € (Vitamin-E)
Question Type : MCQ
Question ID : 264330134062
Option 1 ID : 264330525273
Option 2 ID : 264330525271
Option 3 ID : 264330525272
Option 4 ID : 264330525274
Status : Answered
Chosen Option : 2
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Q.7

Ans

A temporary alliance of groups or parties is called a

X 1. Federalism
X 2. Constituency
< 3. Veto

« 4. Coalition

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330138257
264330541636
264330541637
264330541638
264330541635
Answered

4

Ans

O orte #r RrwE W e @i o B 2

s 32
X2 22
X3 64
X 4. 204

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status

McQ

264330134078
264330525335
264330525337

: 264330525336
Option 4 ID :

264330525338

: Answered
Chosen Option :

2

Ans

** gelirber &1 T w7 F e §2

1. HGHISG
X 2. TTEAT
x3.ﬂ3|TIH

X4 FAES

Question Type :
: 264330138248
Option 11D :

Question ID

Option 2 ID

Option 4 ID

mcaQ

264330541601

1 264330541599
Option 31D :

264330541600

1264330541602
Status :
Chosen Option :

Answered
1
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10 g Fgeewe ME A TR # gl g @ e )
Ans X 1. 1191
<2 1195
< 31211
&4 1192
Question Type : MCQ
Question ID : 264330138671
Option 1 ID : 264330543291
Option 2 ID : 264330543293
Option 3 ID : 264330543294
Option 4 ID : 264330543292
Status : Answered
Chosen Option : 4
Q11 wgem g 7 vw WO & HgER, ST 2023 FF I S BIEHT gl 1 TETEe A
JTe 37 § AT
Ane X1 arfsEaTe
2 T
X 3. WYFT V=g HATGEH
X 4. AT
Question Type : MCQ
Question ID : 264330137772
Option 1 ID : 264330539697
Option 2 ID : 264330539696
Option 3 ID : 264330539695
Option 4 ID : 264330539698
Status : Answered
Chosen Option : 2
Q.12
SIS o T F AT FoT 87
K] LY
Ane X1 e
X2 @R
¥ 3. HTIIEer
X 4 giEeTaTS
3
Question Type : MCQ
Question ID : 264330134058
Option 1 ID : 264330525255
Option 2 ID : 264330525256
Option 3 ID : 264330525258
Option 4 ID : 264330525257
Status : Answered
Chosen Option : 3
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Q13 Among the following, which of these are an example of capital receipt?

Chosen Option :

Ans X 1. Commission and dividend received
« 2. Rent and commission received
+ 3. Borrowings and loan recovery
X 4. Sale of goods and rent
Question Type : MCQ
Question ID : 264330137918
Option 11D : 264330540282
Option 2 ID : 264330540281
Option 3 ID : 264330540279
Option 4 ID : 264330540280
Status : Not Answered
Chosen Option : ==
Q14 = (Kichery, T B0 F2T$ 5009 § o0H wsaias T A a1 & 77 gEw T @
F FamT ST ¥
Ans X 1. mreTEer
¥ 2. 3ealdey
& 3. aalaqlﬁ
& 4. gﬁ-‘m‘m‘r
Question Type : MCQ
Question ID : 264330137739
Option 1 1D : 264330539563
Option 2 ID : 264330539564
Option 3 ID : 264330539566
Option 4 ID : 264330539565
Status : Answered
Chosen Option : 2
Q15 The Himalayan Mountain range was formed by the collision of .
Ans 1. Indian Plate and Eurasian Plate
X 2. African Plate and Australian Plate
X 3. Eurasian Plate and African Plate
X 4. Indian Plate and African Plate
Question Type : MCQ
Question ID : 264330134066
Option 1 ID : 264330525288
Option 2 ID : 264330525287
Option 3 ID : 264330525290
Option 4 ID : 264330525289
Status : Answered

1
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W1 rger 7w & 37TcHFT B

Ans
X 1. T CACES
X 2 ZIU= TOE
v o B ageet
X4 UH TF OEr
Question Type : MCQ
Question ID : 264330137911
Option 11D : 264330540252
Option 2 ID : 264330540253
Option 3 ID : 264330540254
Option 4 ID : 264330540251
Status : Answered
Chosen Option : 3
Q17 oo | & Toeafy E@NT AT T S At T BT E
LUCHE & eey
X2 T
v 3 aRE
X 4 e
Question Type : MCQ
Question ID : 264330134077
Option 1 ID : 264330525332
Option 2 ID : 264330525334
Option 3 ID : 264330525333
Option 4 ID : 264330525331
Status : Answered
Chosen Option : 2
Q18 - ” i}
e dgeed @ "eRd @ WEar” e av e ar
Ans X 1. 2012
<2 201
X3 2013
4 2014
Question Type : MCQ
Question ID : 264330138653
Option 1 ID : 264330543220
Option 2 ID : 264330543219
Option 3 ID : 264330543221
Option 4 ID : 264330543222
Status : Answered
Chosen Option : 4
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Ans x1mm
X 2. PiRTeAT IZET
X 3. e
v foanrT &

Q19 g Fuw 7 F1 97 A 3N TN T e WEER ¥ FEfaa fear o are

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

14

Chosen Option

McQ
264330137913
264330540260
264330540262
264330540261
264330540259
Answered

A X g smwnat
X2 =T
v 5 HITSHTeld FTFeTSAT
X4 gl getud

Q20 gt wfyu F =0 356 AR 360 T IuRE 3egse 8

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330134076
264330525330
264330525328
264330525327
264330525329
Answered

3

A X 1. AgFAg T (Mohammed Rafi)
X 2. AN Heg(Kumar Sanu)
x 3. 31fEha fAg(Arijit Singh)
v 4 T AR, TAI (A R Rahman)

02 Crafefes # ¥ 59 oRdT TEE F 39 (Grammy) TEERX ST 82

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
264330134074
264330525322
264330525321
264330525320
264330525319
Answered

4
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Q.22 The breaking up of the rocks on the earth’s surface is called as :

Chosen Option :

Ans 1. weathering
X 2. stacking
X 3. meandering
X 4. sorting
Question Type : MCQ
Question ID : 264330138664
Option 1 ID : 264330543264
Option 2 ID : 264330543266
Option 3 ID : 264330543263
Option 4 ID : 264330543265
Status : Answered
Chosen Option : 2
Q23 1 1600, the East India company acquired a charter from
Ans 1. Queen Elizabeth I
X 2. Queen Victoria
X 3. King Hemry IV
X 4. King Edward VI
Question Type : MCQ
Question ID : 264330138269
Option 1 ID : 264330541683
Option 2 ID : 264330541685
Option 3 ID : 264330541686
Option 4 ID : 264330541684
Status : Answered
Chosen Option : 1
Q.24 mFET (MGNREGA) I1Sie & Tgel &, T sipare s &1 fhaw Rl =1 e Aeigll Iovm
3Uele AT AT 27
Ams X 1. 150
+ 2. 100
x 3120
x4 90
Question Type : MCQ
Question ID : 264330134056
Option 1 ID : 264330525250
Option 2 ID : 264330525248
Option 3 ID : 264330525249
Option 4 ID : 264330525247
Status : Not Answered
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Q25 Fr=fafew # @ Ao & frw B & o= fo8 = o ot & 5= & Far B2
A" X1 gea-REE (Manual irrigation)
X 2. f5Zea F9(Sprinkler system)

v 87 37 (Drip system)
X 4 oIETel AT LR (Lateral move irrigation)

Question Type : MCQ
Question ID : 264330137903
Option 11D : 264330540220
Option 2 ID : 264330540221
Option 3 ID : 264330540222
Option 4 ID : 264330540219
Status : Answered
Chosen Option : 3

Section : Englis

Q.1 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To go a long way

Ans X 1.To avoid short cuts
¥ 2. To become successful in life
5 3. To join a foreign company

25 4.To go on along drive

Question Type : MCQ
Question ID : 264330134549
Option 1 ID : 264330527154
Option 2 ID : 264330527151
Option 3 ID : 264330527152
Option 4 ID : 264330527153

Status : Answered

Chosen Option : 2

Q.2 TImprove the underlined part of the sentence. Choose ‘Mo improvement’ as an answer if the sentence is grammatically
correct.

There has been a spate of some unformnately events in Madurai.

Ans X 1. ynfortunate some events

« 2. unfortunate events
X 3. unfortunately event

X 4. No improvement

Question Type : MCQ
Question ID : 264330134724
Option 1 ID : 264330527853
Option 2 ID : 264330527851
Option 3 ID : 264330527852
Option 4 ID : 264330527854
Status : Answered
Chosen Option : 2
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Q.3  select the most appropriate synonym 1o substinite the bracketed word in the given sentence.

Thev have also tested fullv (autonomons) landings and semi-antonomous talee-offs for the gas-powered rotorcraft.

Ans 1 Independent

& 2. Unanimous
& 3. Obstruct
&< 4. Occlude

Question Type : MCQ
Question ID : 264330136230
Option 1 1D : 264330533710
Option 2 ID : 264330533708
Option 3 ID : 264330533707
Option 4 ID : 264330533709
Status : Answered
Chosen Option : 1

Q.4 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the ldiom/Phrase.
Get the ball rolling

Ans & 1. Set an activity in motion
X 2. Behave in a crazy manner
X 3. Get everyone’s vote
X 4. Collect one’s belongings
Question Type : MCQ
Question ID : 264330136789
Option 1 ID : 264330535855
Option 2 ID : 264330535857
Option 3 ID : 264330535856
Option 4 ID : 264330535858
Status : Answered
Chosen Option : 1
Qs

Select the most appropriate antonym of the given word.

Administer
Ans X 1. Entertaining
« 2. Forego
« 3. Pictural
X 4. Steady

Question Type : MCQ
Question ID : 264330136631
Option 1 1D : 264330535248
Option 2 ID : 264330535249
Option 3 ID : 264330535250
Option 4 ID : 264330535247
Status : Not Answered
Chosen Option : --
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Ans

X 1. mathematical equation, because
# 2. No error
+ 3. Do not be put of by the

X 4. this is really not very complicated.

Q.6 Identify the segment that contains a grammatical error. If there is no error, select No error’

Do not be put of by the/ mathematical equation, because/ this is really not very complicated.

Chosen Option :

Question Type : MCQ
Question ID : 264330136213
Option 1 ID : 264330533644
Option 2 ID : 264330533646
Option 3 ID : 264330533643
Option 4 ID : 264330533645
Status : Answered
Chosen Option : 3
Q.7 Choose the word that can substitute the given group of words.
A man who is womanish in his habits
Ans X 1.Henpecked
< 2. Fastidious
25 3. Stoic
«" 4. Effeminate
Question Type : MCQ
Question ID : 264330134543
Option 1 ID : 264330527128
Option 2 ID : 264330527127
Option 3 ID : 264330527130
Option 4 ID : 264330527129
Status : Answered
Chosen Option : 4
Q.8 Select the appropriate synonym for the underlined word.
They have no reason to trust you.
Ans o 1. believe
< 2. doubt
X 3. dispute
< 4. condemn
Question Type : MCQ
Question ID : 264330134544
Option 1 ID : 264330527132
Option 2 ID : 264330527134
Option 3 ID : 264330527133
Option 4 ID : 264330527131
Status : Answered

1
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All of the farmers I interviewed shared three things on common.

Ans X 1. All of the farmers I

+ 2. things on common.
# 3. No error

X 4. interviewed shared three

Q.9  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Question Type : MCQ
Question ID : 264330135179
Option 1 ID : 264330529647
Option 2 ID : 264330529649
Option 3 ID : 264330529650
Option 4 ID : 264330529648
Status : Answered
Chosen Option : 2
Q.10 Select the most appropriate option to fill in the blank.
Without vision, the process of conceptualisation can become task for any individual.
Ans X 1. a gregarious
« 2. an onerous
# 3. a contrarious
X 4. alively
Question Type : MCQ
Question ID : 264330136107
Option 1 ID : 264330533235
Option 2 ID : 264330533238
Option 3 ID : 264330533237
Option 4 ID : 264330533236
Status : Not Answered
Chosen Option : --
Q.11 Select the most appropriate option to fill in the blank.
Although she has used the typewriter since she was eleven years old, she is rather
than rapid.
Ans X 1.heedless
5 2. hasty
5 3. energetic
o 4. careful
Question Type : MCQ
Question ID : 264330134553
Option 11D : 264330527169
Option 2 ID : 264330527168
Option 3 ID : 264330527167
Option 4 ID : 264330527170
Status : Answered
Chosen Option : 4
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the sentence is grammatically correct.
Your parcel should arrived at three days.

Ans X 1. arrive in third
< 2. arrive in the third
«# 3. arrive in three

25 4. No improvement

Q.12 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if

Question Type : MCQ
Question ID : 264330134402
Option 1 ID : 264330526587
Option 2 ID : 264330526588
Option 3 ID : 264330526589
Option 4 ID : 264330526590
Status : Answered
Chosen Option : 3
Q.13 Fill in the blank with the most appropriate option.
Earlier I'd thought that it was for my sake, but then I leamt Arjun the power to resist her.
Ans X 1. what has gave
X 2. what gives
« 3. what gave
X 4. what give
Question Type : MCQ
Question ID : 264330136246
Option 1 ID : 264330533774
Option 2 ID : 264330533772
Option 3 ID : 264330533773
Option 4 ID : 264330533771
Status : Answered
Chosen Option : 3
Q.14  Select the most appropriate option to substitute the bracketed segmen in the given sentence. If there is no need to
substitute it, select ‘no substitution required’
(I wouldn't date him if I was you), he doesn't seem like a good person.
Ans X 1. No substitution required
X 2. Iwill not date him if I were you, not
X 3. I'wouldn't has dated him if I were you,
« 4. I'wouldn't have dated him if T were you,
Question Type : MCQ
Question ID : 264330136216
Option 1 ID : 264330533658
Option 2 ID : 264330533657
Option 3 ID : 264330533656
Option 4 ID : 264330533655
Status : Answered
Chosen Option : 4
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in the back of his head.

Q.15 A sentence has been given with a blank to be filled with an appropriate option. Choose
the correct alternative.
The victim was

Ans  # 1.shot
< 2. shooted
5 3. shoot
25 4. shooting
Question Type : MCQ
Question ID : 264330134534
Option 1 ID : 264330527098
Option 2 ID : 264330527095
Option 3 ID : 264330527097
Option 4 ID : 264330527096
Status : Answered
Chosen Option : 1
Q.16 Choose the incorrectly spelt word.
Ans 1. Friying
75 2. Addition
< 3. Hazard
25 4. Common
Question Type : MCQ
Question ID : 264330134550
Option 1 ID : 264330527158
Option 2 ID : 264330527156
Option 3 ID : 264330527157
Option 4 ID : 264330527155
Status : Answered
Chosen Option : 1
Q.17 Select the appropriate antonym for the underlined word.
Sam was looking gloomy and downcast, and Meg in tears.
Ans X 1.sullen
< 2. plain
" 3. buoyant
& 4. morose
Question Type : MCQ
Question ID : 264330134547
Option 1 ID : 264330527146
Option 2 ID : 264330527144
Option 3 ID : 264330527143
Option 4 ID : 264330527145
Status : Answered
Chosen Option : 3
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Q18 gSelect the wrongly spelt word.

Ans X 1. Enclosed
X 2. Sjzeable
« 3. Disgsting
X 4. Contradictory

Question Type : MCQ
Question ID : 264330136106
Option 1 ID : 264330533233
Option 2 ID : 264330533232
Option 3 ID : 264330533231
Option 4 ID : 264330533234
Status : Answered
Chosen Option : 3

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.
You will get a discount on this products, if you buy one more outfit.

Ans X 1.you buy one more outfit.
25 2. No error
#< 3. You will get a discount

" 4. on this products, if

Question Type : MCQ
Question ID : 264330134530
Option 1 1D : 264330527081
Option 2 ID : 264330527082
Option 3 ID : 264330527079
Option 4 ID : 264330527080

Status : Answered

Chosen Option : 4

Q20 Choose the word that can substitute the given group of words.

A circular house made of blocks of hard snow
Ans & 1 Igloo

« 2. Hut

X 3. Nest

X 4. Hutch

Question Type : MCQ
Question ID : 264330136783
Option 1 1D : 264330535831
Option 2 ID : 264330535832
Option 3 ID : 264330535833
Option 4 ID : 264330535834
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Tt was this (1) that made John so particularly unusual, even for a wizard. This sear was (2} hint of John's
very mysterious past, of the reason (3) the Samuel's doovstep eleven years (4) . At the age of one, John
(3) a curse from the greatest Darle sorcerer of all time.

SubQuestion No : 21

Q21 gelect the most appropriate option to fill in blank number 1.

Ans 1. defect

« 2. scar
< 3. blister
< 4. scab
Question Type : MCQ
Question ID : 264330136622
Option 1 ID : 264330535211
Option 2 ID : 264330535213
Option 3 ID : 264330535212
Option 4 ID : 264330535214
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
Tt was this (1) that made John so particularly unusual, even for a wizard. This sear was (2} hint of John's
very mysterious past, of the reason (3) the Samuel's doovstep eleven years (4) - At the age of one, John
(3) a curse from the greatest Darle sorcerer of all time.
SubQuestion No : 22
Q22 gelect the most appropriate option to fill in blank number 2.
Ans & 1. the only
X 2. the alone
X 3. that only
A 4. that individual
Question Type : MCQ
Question ID : 264330136623
Option 1 ID : 264330535215
Option 2 ID : 264330535218
Option 3 ID : 264330535216
Option 4 ID : 264330535217
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Tt was this (1) that made John so particularly unusual, even for a wizard. This sear was (2} hint of John's
very mysterious past, of the reason (3) the Samuel's doovstep eleven years (4) . At the age of one, John
(3) a curse from the greatest Darle sorcerer of all time.

SubQuestion No : 23
Q23 gelect the most appropriate option to fill in blank number 3.
Ans X 1. he had been left up
# 2. he have been left on
« 3. he was been left in
+ 4 he had been left on

Question Type : MCQ
Question ID : 264330136624
Option 1 1D : 264330535219
Option 2 ID : 264330535220
Option 3 ID : 264330535222
Option 4 ID : 264330535221
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Tt was this (1) that made John so particularly unusual, even for a wizard. This sear was (2} hint of John's
very mysterious past, of the reason (3) the Samuel's doovstep eleven years (4) - At the age of one, John
(3) a curse from the greatest Dark sorcerer of all time.

SubQuestion No : 24

Q24 gelect the most appropriate option to fill in blank number 4.
Ans X 1. sooner

X 2. before
X 3. prior
4. ago

Question Type : MCQ
Question ID : 264330136625
Option 1 1D : 264330535223
Option 2 ID : 264330535225
Option 3 ID : 264330535224
Option 4 ID : 264330535226

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Tt was this (1) that made John so particularly unusual, even for a wizard. This sear was (2} hint of John's
very mysterious past, of the reason (3) the Samuel's doovstep eleven years (4) . At the age of one, John
(3) a curse from the greatest Darle sorcerer of all time.

SubQuestion No : 25

Q25 gelect the most appropriate option to fill in blank number 5.

Ans X 1. have somehow survived

+ 2. had somehow survived
X 3. had somehow existed through

X 4. has had someway survived

Question Type : MCQ
Question ID : 264330136626
Option 1 ID : 264330535229
Option 2 ID : 264330535228
Option 3 ID : 264330535227
Option 4 ID : 264330535230
Status : Answered
Chosen Option : 2
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